Question Paper Preview

Question Paper Name: AP ICET 2017 Shift2
Subject Name: AP ICET 2017
Analytics Ability
Display Number Panel: Yes
Group All Questions: No

Question Id : 8650043963 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (1 to 20)
Data Sufficiency
o ?'.JT‘SZ_;@

Note: In questions numbered 1 to 20, a question 1s followed by data in the form of two

statements labelled as I and II. You must decide whether the data given in the
statements are sufficient to answer the questions. Using the data make an
appropriate choiwce from (1) 1o (4) as per the following guidelines:

(a) Mark choice (1) if the statement I alone i1s sufficient to answer the
gquestion.

() Mark choiwce (2) if the statement I alone 1s sufficient to answer the
question.

{c) Mark chewce (3) 1f both the statements [ and II are sufficient to answer
the gquestion but neither statement alone 1s not sufficient.

{d) Mark chorce (4) if both the statements I and II rogether are not sufficient
to answer the question and additional data 1s requared.
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Sub questions



Question Number : 1 Question Id : 8650043964 Question Type : MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

What 1s the present population of the city C7
Ade C s, DRS 2T doh?
I.  The population of the city in the year 2010 1s 24. 80.000.
2010 'ﬁlo;ﬁ@hﬂnﬁ g3 AiGe CEJJSG ey 24, 80.000.

I, The population of the city grows every year.
& Aifo 2T DO VoDddo O Boodod.

Options :
1
7 2
7 3
4. 4
Question Number : 2 Question Id : 8650043965 Question Type : MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical
Is the positive real numbe1"a" rational?
BTB) S TRD Do) 3 SEE3CHRLT.
L  The area of a rectangle 1s '@ sq, units.
28 QERBCH DTV A B.0TILD.
0.  The area of the circle with radius 4 cin is a square centuneters.
4 2o. & TrGoS D) HY DTV a £5.750.80.
Options :
i 1

q 2
g3
5 A

Question Number : 3 Question Id : 8650043966 Question Type : MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

If a. b. ¢ are negative integers and d is an integer. is d =07
a, b, cen mmf@gﬁcﬁsw 9N d 2.5 t.’;_}vg :-i:aapé od, d = 0 ead)Hddoe?

I. d24=24—b



e
-3

Question Number : 4 Question Id : 8650043967 Question Type : MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

If a. b. ¢ are real numbers.1sa=0b"?
a,b,c ﬂ“@éﬁ:o&:ﬁéw oVa, a > b 9)H)doom?

-

as+bh = =0
II. a>b—e¢

Options :
1: 1

(]

"

"
faa

Questlon Number : 5 Question Id : 8650043968 Question Type : MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Doesa~b=07
a +b =0 epde?

I. ab<0
0. a=
Options :

Pl

7, 2

1.
4, 4

Question Number : 6 Question Id : 8650043969 Question Type : MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

In the sequence 1. a. b. ¢. 9 of real numbers. what is the value of ¢?
TRHDoE 1. a, b, c. 9 C30E), BRAEHS" ¢ aing), Dewd Jod?

I.  The third term of the sequence 1s twice the fiurst.
& BRAEDe GINE), QFPED Do AEGE) DTS BLoY.

II. Second term of the sequence 1s 4,
£5 BRSSO ﬂ.us;b Oodiad Do 4.

Options :



L3
-2

"
faa

4 4

Question Number : 7 Question Id : 8650043970 Question Type : MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

What 1s the average of p. q. r and s7
. . I S08a310 s & DU Joeh?

k: p+qt+ir=s+64

0. 4p+r+s)=128.q=16

Options :

L

3
-2

"
faa

4 4

Question Number : 8 Question Id : 8650043971 Question Type : MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Is P the mother of Q7
Q chwg), d8 P espdoom?
I Q 1s the daughter of P.
P aiws), S:53°8 Q.
II. P isnot the bother of Qs paternal uncle.

Q CBE), DéSog, / DAGog, IV, T P 7.

Options :
1

3
[

"
L]

Question Number : 9 Question Id : 8650043972 Question Type : MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical



What 1s the mother’s age?
S8 ci0g), SO od?

I. 15 vears ago the mother was twice the age of her danghter five years ago.
15003800 Socse) es 89, 5 LR NS IVIE Soddt) 85 SOAT0 HodAS
G680y oA sw.

0.  Five years Later the mother’s age will be twice the age of her daughter.
5 RodeGane S6T°d, &5 38 SaLA B2 L5778 SDLAIL Bes).

Options :
1: 1

3
-2

3
4 4

Question Number : 10 Question Id : 8650043973 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

What was the percentage of defective items produced in the factory?
e (56 &° Bairconsd S’ S $DAB SPew Jos TBo?

I.  The ratio of defective items to the non defective items was 25 : 625,
s sHADG SR, e THY JDVW 206 (0 Diyd 25 1 625,
II. The total number of defective items produced was 225.

00 & Sairgd S0P JoBIw Ready 225,

Options :
1

I

A
4 4

Question Number : 11 Question Id : 8650043974 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Will it be a Monday tomorrow?
B V0T 6e e9deme?
I.  Every Sunday is a holiday.
HE B3ATGe DO BDAW.
II. Today is not a Sunday.
&ier e32HT6A0 S0,

Options :
l. 1



4 4

Question Number : 12 Question Id : 8650043975 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

If a. b. ¢ are integers. 1s a — b + ¢ divisible by 37
a.b.cew rgRoen oS, 38 a+ b+ ¢ erfodecodoo?
. a=b=>c
I. a-b=b-c=2
Options :
1: 1

9 2
Ak
4 4

Question Number : 13 Question Id : 8650043976 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

What 1s the length of the line segment AB on the straight line PQ?
PQ 20¥02p Garaotan AB g, JE) Jodh?

. AP=BQ=25ecmn,
AP=BQ =25 2o.2b.
II. PQ=300cm.
PQ = 300 o.5.

Options :
l. 1

e
-2

Question Number : 14 Question Id : 8650043977 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

For real numbers a. b and ¢. what 1s the value ofa +b +~¢?
3, b 2000k ¢ TR0 NePfws), a+b+c A, e Joed?
I. ac=16:
II. a.b.careina geometric progression.

a,b,c w0 28 s HT)aw.

Options :



L3
-2

"
faa

Question Number : 15 Question Id : 8650043978 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Is ANC =07
ANC = 0 eanHdvot?
I. ANB=0
II. BnC=0
Options :
1
5 2
3. 3
4 4

Question Number : 16 Question Id : 8650043979 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Is the integer n divisible by 1207
1208 JPgRoadf N rHoDCOBIT"?
I n=kk - 1?1{1::E —4) for some integer k.
Do rgrow| k & n= k(k” — 1)k —4).
II. nis divisible by 4 and 30,
4 Z2o00dw 30 wd n erfodedrdued

Options :

"
L]

Question Number : 17 Question Id : 8650043980 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

For real numbers a. b and c. 1s (a—b)" = 07
TRD Roayjew a,b Baiw ¢ 8 (a-b)" > 0 LHSVE?
L. a%<b
I c¢is divisible by 16
16 © ¢ errfodeicdddrod



Options :
l. 1

Question Number : 18 Question Id : 8650043981 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

For any real number x. the greatest integer not exceeding x 1s denoted by[x], If [a] = 5
for some a. then what is [2a]?

DHONT” TS Vo X 8, X & DedD (0L YPTRe [x] 1 *‘mrﬂt:@r;.‘u:. DGSoNT 3
& [a] = 5 esc0dd, SFe) N4 [23] Docd?

L. ﬂ—[a]:é

1. a 1s a rational number
3 28 gdeaD :-1;::3;:5.

Options :
l. 1

e
-2

Question Number : 19 Question Id : 8650043982 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

For a polynomial p(x).1s x— 1 a factor of p (2x —1)7

28 B0 p(x) §, p(2x — 1) cdng) 248 S*CETos X-1 BPSver ?
I p3)=0

. piy="1

Options :
i 1

"
L

Question Number : 20 Question Id : 8650043983 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



What 15 the maximum possible length of the rod that can be placed i the box with
rectangular base?

BERBOTTCY BT SDHD 2,8 DD GotdIDF BRSOV Ttap e sé
D) dod?
I.  The area of the base of the box i1s given as ¢ square uiuts.
&5 28 CDWE), BEPGON DTV @ WEGY) ORI BI(LC.08
II.  The height of the box is given as h units.
&3 &) D0 h AL FE\D.

Options :
l. 1

3
-2

Question Id : 8650043984 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (21 to 30)

Problem solving
RDTFY B
Sequence and Sernes

29 0082507600, HEROEL)

Dhrections for questions 21 1o 30

21 Avoc 30 D6 (1w 1) ©& Ardde

In each of the questions 21 to 30 an analogy with two stnngs of numbers or letters or
both are given following a definite pattern on the left. Identifying thas pattern. you have
to fill the blank space on the other side analogously from among the four opfions miven.

21 Aved 30 H68 0 P pE° a8 HINBRD ATABAD BWBed Hoad do
wirrod Jor 0odSE D0AH Tod AR PPy 0w, & ArAAKunied wd
TS’ Tocapay 0 39D, B TR DA Aol JodE S, 4 BT e
2TBotioc.

Sub questions

Question Number : 21 Question Id : 8650043985 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

BV 1 Q

Options :



La
S -

Question Number : 22 Question Id : 8650043986 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

GE: TV : DB«
Options :
1 WX
; WY
; YW
YX
4

Question Number : 23 Question Id : 8650043987 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

1993 AD: 1996 A.D :: 1997 A D :

Options :
2000 A.D
_ 2002AD
, 2004AD
, 2008AD

Question Number : 24 Question Id : 8650043988 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

6:62:8:
Options :

1. 83

.72

; 03

4. 52

Question Number : 25 Question Id : 8650043989 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

6:180: 8 :

Options :
| 248



, 448

5 484
,, 482

Question Number : 26 Question Id : 8650043990 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

14641 ;11 :+2401 :

Options :
L 7

2 9

v 2l

k

4 29

Question Number : 27 Question Id : 8650043991 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

AZCX ' EVGT :: IRKP .

Options :
. NMOL
~ MNOL
, MONL
4. NMPL

Question Number : 28 Question Id : 8650043992 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

= e, o Ll ¢
FRL TR
Options :

3
37

L

Question Number : 29 Question Id : 8650043993 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



DRIVEN : EIDRVN :: BEGUM :
Options :
1 UEBGM

UEBMG
; MGBEU
BGMUE

Question Number : 30 Question Id : 8650043994 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

LAKE : PEOI :: MEAT :

Options :
| PJEX

PIEX

L2

QIEX
QEIX

Question Number : 31 Question Id : 8650043995 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

In questions 31 to 35 pick the odd thing out
31 Aooc 35 Hos0 e Q%‘Alueﬁ& OTLAT A Botiol.

Options :

2,35,

——
T
L3
_h

L S—

L2

Question Number : 32 Question Id : 8650043996 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

In questions 31 to 35 pick the odd thing out
31 2006 35 36D (v DI LS 2ETVIFTID WBSE.

Options :

L 343

[

2

-

I

T

]



Question Number : 33 Question Id : 8650043997 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

In questions 31 to 35 pick the odd thing out

31 &00d 35 S0 (o DI S HETVITID HBoSOE.
Options :
Astounded

LR el

Flabbergasted
TOTRE

Plzased

Astonished
@Q‘SE&

Question Number : 34 Question Id : 8650043998 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

In questions 31 to 35 pick the odd thing out
31 Aoect 35 Hoso e ‘Q%“lueﬁﬂ 2OTLITD Abotiodt.

Options :
3

l. 0

5 16

399

Question Number : 35 Question Id : 8650043999 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

In questions 31 to 35 pick the odd thing out
31 Aoect 35 Hos0 e Q%‘luﬁ 2OTLIT I Botiod.

Options :

Loy



19
21

Question Number : 36 Question Id : 8650044000 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Directions for questions 36 to 43 36 Auod 47 S508 G gaimg) MAPCISED

In each of the questions numbered 36 to 45 a sequence of numbers or letters or words or strings of letters that follow
a definite pattern 1s given. Each question has a blank space. This has to be filled by the correct answer from the
four given options to complete the sequence without breaking the pattern.

36 A00c 45 HOL () BB D) E°0 BDD DOVJRNST), BET LV, DEVSR), BVECVOET, 2.8 SRGID
DoAY ﬂ“l‘ﬁi@ﬂ‘;ﬂﬂ- DS gﬁ&eﬁ" S @D TR DO FOA0E AB0DD PATFETAAVON) s
et Dobards Sofio Serither rbodod

30

2 ¥ et
165, 18;.21;,
Options :

242
i
3
24~

5
24?

[=3]

25

Question Number : 37 Question Id : 8650044001 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Directions for questions 36 to 43 36 oo 47 S02) e gaﬁlmg} PPCSED

In each of the questions numbered 36 to 45 a sequence of numbers or letters or words or strings of letters that follow
a definite pattern 1s given. Each question has a blank space. This has to be filled by the correct answer from the

four given options to complete the sequence without breaking the pattern.

36 Aood 45 HOL fe) 8 gﬁ;oﬁﬁm BDND RN[EITR), BET LU, DEPLHS), BESDOETD, Wt SBGIOD

AoaATDY é)vef)“_'_rma“;lﬂm. D gﬁc‘lé" SV A TR LSV DD EFO0E DBV DATEEINLON) o)
2080 Dobards Hero Sonto Hrbodod

1297, 626, 257, AT

Options :
117

, JF
82
67

L-2

Question Number : 38 Question Id : 8650044002 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



Directions for questions 36 to 43 36 Auod 47 S508 G galgug} MAPCISED

In each of the questions numbered 36 to 45 a sequence of numbers or letters or words or strings of letters that follow
a definite pattern 1s given. Each question has a blank space. This has to be filled by the correct answer from the
four given options to complete the sequence without breaking the pattern.

36 A00d 45 HOL () BB DI) B°20 BDD DODJRNST), BETLVSD), DEVSR), BVECVOET, .8 SRGID
AOLATA) Frdinae)on. RS P76’ D FDD TEom DDFO0E B0V PAFEFIANOA Joted
et Dobards Sofio Sontnss Hrbodod

i 1 1
5040 ' 720" 120 ———

! |
IE}EJ‘-]‘

Options :
1
110

L

1
24

Question Number : 39 Question Id : 8650044003 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Directions for questions 36 to 43 36 Auod 47 S0g G galgug} MAPCISED

In each of the questions numbered 36 to 45 a sequence of numbers or letters or words or strings of letters that follow
a definite pattern 1s given. Each question has a blank space. This has to be filled by the correct answer from the
four given options to complete the sequence without breaking the pattern.

36 A0od 45 HOL () BB D) B°0 BDD DODJRNST), BET LV, DEVSR), BVECVOET, 2.8 SRGID
AobarrAy anp:):@au;lm_ D gﬁc'leﬁ" ) @YD e DD EFO0E DE0VD DATEEIDVOD) o)
ety Dobards SHofio Sonitos rbodod

37 26 17
503726’
Options :
5
17

r

1
2

L2

10
17

12
17

Question Number : 40 Question Id : 8650044004 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



Directions for questions 36 to 43 36 oo 47 S02) e gﬁimg) BRI TR
In each of the questions numbered 36 to 45 a sequence of numbers or letters or words or strings of letters that follow
a definite pattern 1s given. Each question has a blank space. This has to be filled by the correct answer from the

four given options to complete the sequence without breaking the pattern.
36 Aood 45 HOL () BB D) B0 BDD DODJRNST), BET LV, DEVSR), BVECVOET, .8 SRGID

QoY Feenme on. PH DF) 6w BDyS Tt DD Froded AB0DM HAFETHANOM) JocEd)
A8 DaBArdE Hofo Soritom DFbosed

=3 13, 22,27, 3. ., 105

Options :

, 66

5 76
86
96

Question Number : 41 Question Id : 8650044005 Question Type : MCQ Display Question Number : Yes Single Line Question

Option : No Option Orientation : Vertical
Directions for questions 36 to 43 36 oo 47 S02) e gﬁimg) EA R
In each of the questions numbered 36 to 45 a sequence of numbers or letters or words or strings of letters that follow

a definite pattern 1s given. Each question has a blank space. This has to be filled by the correct answer from the

four given options to complete the sequence without breaking the pattern.
36 A0oc 45 HOL () BB DI E°0 BDD DoVJRNST), BET LV, DETVSA), BVECVOET, .8 SRGID

QoY FenTe on. DS DH) 6@ BDyd Tt DD Fredd AB0DM HAFETHANOM) JocnE)
esaidan Dabards SHofio Sonitos rbodod

(1011)2. (0111}, (0101)a. . (00100
Options :

| (1010

(1000),
L (0011)

, (0110)

Question Number : 42 Question Id : 8650044006 Question Type : MCQ Display Question Number : Yes Single Line Question

Option : No Option Orientation : Vertical
Directions for quesnons 36 to 45 36 ool 45 SH02 ey g‘ﬂ;tﬁm AATPLISELD
In each of the questions numbered 36 to 45 a sequence of numbers or letters or words or strings of letters that follow

a definite pattern 1s given. Each question has a blank space. This has to be filled by the correct answer from the

four given options to complete the sequence without breaking the pattern.
36 A0od 45 HOL () BB DI B°20 BDD DoVJEUSTY), BET LU, DEVSR), BVECVOET, 2.8 SRGID

QDAY FedinTon. P8 P76 W BDyD TR DDyFOdiod PE0LM AAFEEIAON I
08 Dobards Hofio Sonto Do

3, 33 2% T, 221

Options :



154

, 204
; 184
, 143

Question Number : 43 Question Id : 8650044007 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Directions for questions 36 to 43 36 Auod 47 S0g G gﬁimg} EAN AT

In each of the questions numbered 36 to 45 a sequence of numbers or letters or words or strings of letters that follow
a definite pattern 1s given. Each question has a blank space. This has to be filled by the correct answer from the
four given options to complete the sequence without breaking the pattemn.

36 A0oc 45 HOL () BB D) B°0 BDD DOVJELSTD), BETLVSD), DEVSR), BVECVOET, .8 SRGID
AoDArDy Frdinar)on. D8 P E W a0y T DDy Foa0d B0 PAFETHANON Josed)
B8 Aaharos Hofio Seritho rbodod

3, 8. 24, 48, 120.

Options :
[ 284

268

L2

3 244
168

Question Number : 44 Question Id : 8650044008 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Directions for questions 36 to 43 36 oo 47 S02) e gﬁimg} PPCSED

In each of the questions numbered 36 to 45 a sequence of numbers or letters or words or strings of letters that follow
a definite pattern 1s given. Each question has a blank space. This has to be filled by the correct answer from the
four given options to complete the sequence without breaking the pattern.

36 Awod 45 HOL M) PA DI S0 FDYD VOV, VLT LIS, DEPLIS™D), BECROETD, L8 SHGI
AoDary Frdinar)on. D8 P E W a0y TN DDy FoM0E B0 PAFEERHANON Josed)
et Dobards Hofio Seritho rbodod

6. 24. 60. 120. 210,

Options :
310

1
324
, 336
340

Question Number : 45 Question Id : 8650044009 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



Directions for questions 36 to 43 36 Auod 47 S508 G gﬁimg) EAN AT

In each of the questions numbered 36 to 45 a sequence of numbers or letters or words or strings of letters that follow
a definite pattern 1s given. Each question has a blank space. This has to be filled by the correct answer from the

four given options to complete the sequence without breaking the pattern.

36 A00c 45 HOL () DB DI B°0 BDD DODJRNST), BET LV, DEVSR), BVECVOET, 2.8 SRGID

QoY Fenm on. DS D1 6w BDyS Tt DD Freded AB0DM HAFEEHANOM) JocE)
BmaISan Aaharas Sofio Senitho rbodod

IMQ. GKO. EIM. AEI

Options :

Question Id : 8650044010 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No
Question Numbers : (46 to 48)



Problem solving
RSDRRY S
Data Analysis
G0 DT

The children in the age group of five years to twenty five vears i a town are
categorized into six groups A, B. C. D, E. T based on the level of their studies. as given
in the following pie-chart. Using this mformation. answer the questions from 46 to 48.

28 DS’ 5-25 DoddAne g Sobis D dywdo 58 :)C}'“;SQ‘D.DEJ
esprdor A, B. C.D_E. F &3 esdd frapeurr 58880, I8 & B P Hod
DFDCO0ed. 6 DATTETR0 SIS0 46 Aol 48 D08 A R RIS

PRS0 TeaboG.

Sub questions

Question Number : 46 Question Id : 8650044011 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

The percentage of children in group F, among the children of the town is

&5 D05’ Duwe’, drd F &' Do Fdo

Options :

1
=
i 3

Question Number : 47 Question Id : 8650044012 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



If the group E has 1182 cluldren. then the total number of children i1 the given age
group in that town 1s

E dri)es® 1182 Suod Heen eotl, &3 f.::%}::ﬁc@ﬁ AR ;ﬁésav:é SaHRGD 2o DV
a’:oa_n]g

Options :

| 7092

, 7192
8182
8262

Question Number : 48 Question Id : 8650044013 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

If k tunes the number of children m F 1s equal to the number of children in B and C put
together. then the value of k 1s

B 208ain C &' Hyw DojRdy SN I3y R, F &' Duwmen(d k oen eons,
92462 k Ded

Options :

-~

T

5

L2

Question Id : 8650044014 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (49 to 53)



fromblem solving
RN APED
Diata Analysiz
BP0 o) Faes

The following table shows the admissions of students into four Engineenng colleges
from 2011-12to 2015-16. Using this mformation. answer the questions 49 to 53.

8 G0 By 7’.}%35, 2011-12 oo 2013-16 DL ~Peor @080 v’
Darjoer PATAS DozioBod DITION) BUENHI0G, £ DATTIGAN

endrfocing D, 49 Hoow 53 26 e @,ﬁ&_ﬁ:é) R TroDod.

", Academic vear

a;}\m{] P0D8 o
Engmeeririg 2011-12 | 2012-13 | 2013-14 | 2014-15 | 2015-16
College

Pozr)bof SwrEmey

A 373 400 450 425 450
B 525 500 550 575 550
C o 275 325 3350 25
D 475 2 475 330 625

Sub questions

Question Number : 49 Question Id : 8650044015 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

In which college. admissions are increasing vear by vear?

D SVFRY” PRIV VDB Go VeSST"IS DEMET S0 ?

Options :

A
B
S.C
D

Question Number : 50 Question Id : 8650044016 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



Considering the admissions mnto all the colleges during 2013— 2014, the percentage of
admissions in the college A that year is

2013-14 Do \BoS” 8 STFTRES D DDFADVAD DB VS SRR 3D, &
RoddGoS” SvF e A ') D3I Fdo

Options :

-
l. 20

Question Number : 51 Question Id : 8650044017 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

By what percentage. admissions are mcreased in the college B during 2013-14. over the
previous vear?

svewo B &°, 2013-14 R0DSH020 Do) ot So6e) oS GoSol] DT
o FTdto DBARDT

Options :

1. 30

25

e

3 20

10

Question Number : 52 Question Id : 8650044018 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

The college having the maximum number of admissions in all the years put together. 1s

) RoIS G200 SHD BRI, d(BS ﬁnmﬁe‘iﬁ DoavLN A0 ST

Options :

| A

i, I8

D

Question Number : 53 Question Id : 8650044019 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



The college in which the admissions are reduced compare to the previous yvears on two
0CCas1ons. 1s
22088 (9ose) §80) DodSBaeE OT D DN\, D svFw & DDIAeD

Ootd ?-ba{:iﬂ“;}ueﬁﬁ e‘.’&f{"ic:io 2060087
Options :
- A

B

L2

Question Id : 8650044020 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (54 to 55)
Problem solving

sy Fridad
Data Analysis
Gigrod DT

Direction for questions 34 and 33

In an office with a staff of 30, five persons speak Hindi. English and Telugu. Four
persons speak Hindi and English only. Four persons speak only Telugu Three only
English and four only Hindi. The number of persons speaking only rwo languages
namely Hindi. Telugu and English. Telugn 15 the same Based on this information
answer the questions 34 and 35

30 200d E{ﬁﬁémau ey s e2e0e)” e0EIMD 308, Mol Abain Bewiid
ATFERDGD, He0rhd) rod 08cin ol Arday Arerdion. et S
TG, S0 Foflan ATGD, LM IFed AFHN ATFErEAM. tPod, B
anfoin moefiay, Senr e Do) aFne- arda artrcidn o0 :-’acaj?g AT,
i DarTrdand eeordor™ 54 SoBaiwn 55 Q%&UE&) RSSO TPaoG .
Sub questions
Question Number : 54 Question Id : 8650044021 Question Type : MCQ Display Question Number : Yes Single Line Question

Option : No Option Orientation : Vertical
How many persons speak only two langunages out of the three languages?

S0 erieed’, Ooth) araen Arday STETE, ;51545::«9_1: ool 7

Options :

10



, 14

5 16

4. 19

Question Number : 55 Question Id : 8650044022 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

The percentage of staff members speaking more than one language is

2058 Soff ALY D NP Jrerd aﬁﬁmu TS0,

Options :

1
| 53;

1
585

Lo

1
615

1
635

Question Id : 8650044023 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (56 to 60)

Coding and Decoding Problems

E2oh, cECoh NSV

Directions for questions 56 to 60
56 aooc 60 H05 e D) %) rcden

The letters of the English alphabet are arranged around a circle and are coded as follows:

(1) A wvowel 1s coded as third vowel from it in the clock-wise direction.

(2} A coosonant 15 coded as the fifth consonant from it 1n the clock-wise direction.
The reverse process 15 used for decoding. Using this coding and decoding processes. answer the
questions 56 to 60

@ofiin wEdarud’d) eoranomn Le Sydan colir wi0dy, TE & Jon Jdawmr BE
ac:.:bﬁr:,m N0,
L 28 eocion @0 CRiiood) Sorcs ecion D8 D aues BE Salgedna.

2wl srendo Dogass’ ol doed oo rendh SE dabiadas.

AEAGH 2, A% D550 Do ardico wondd. & Flofi fubaiv A¥del pdaben

Saddrfoc) 56 Aood 60 H0% fw Y S0 Barmen ool

Sub questions

Question Number : 56 Question Id : 8650044024 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



The letter that is coded as *I" 1=
‘I & r:'}oj:aémcia 2 € 52900

Options :

j

J

L2

3@

4.E

Question Number : 57 Question Id : 8650044025 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

The code word for *MASTER 1=
‘MASTER’ & §& oo

Options :

. SUYZAX
TOZBVY

SOYZUX

SOYZAX

Question Number : 58 Question Id : 8650044026 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

The code word for *‘PRINCE’ 1s
‘PRINCE" & §& 260

Options :

i VXUTIU

WXAJTU

L2

5 VXATIU

i UXATIU

Question Number : 59 Question Id : 8650044027 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

The code for the letter *X 1s
‘X eogoedd EE

Options :



3. G
4 D

Question Number : 60 Question Id : 8650044028 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

The string of letters that 1s coded as ‘MUSIC" 15
MUSIC” 1 §€ Soifeidtd L6500 Dot

Options :
; GEMVZ

GEMUZ

| B

 GEMVW

L

4, GEMUW

Question Number : 61 Question Id : 8650044029 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

In a certain code language. if ‘SAND’ is coded as "AIR". "AIR" is coded as
‘PLATEAU’. "PLATEAU" 1s coded as "WELL". “WELL" is coded as "ISLAND" and
‘ISLAND’ 1s coded as *SKY . then where from water can be drawn in this code
langnage?

2.8 :)EQ E& wries” “SAND &0 ‘AR &0 . ‘AIR' Q “PLATEAU i .
‘PLATEAU’ Q “WELL™ & . “WELL’ 2 “ISLAND ™) daiy ‘ISLAND' &
SKY'mmao 6 82 & §& g’ 29),6 Avod D8 S8 fosw.

Options :
| WELL

, ISLAND
3 AIR
4 SKY

Question Number : 62 Question Id : 8650044030 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

In a code language. *CLOUD" is called “WHITE'. “WHITE" 1s called "RAIN’. ‘RAIN’
1s called *GREEN". “GREEN is called ‘AIR" and “AIR" 15 called ‘BLUE" and ‘BLUE"
1s called *“WATER'. Then where will the birds fly in this code language?

28 §& erxeS” ‘CLOUD’ D ‘WHITE® @ . “WHITE' D ‘RAIN’ . ‘RAIN' D
"GREEN" 2. ‘GREEN Q ‘AIR" &3, “AIR Q ‘BLUE" &9 20dodw ‘BLUE Q
“WATER’ e e0trdh. & 56 eriyes’ BN DEOLD IS) & ADETTON.

Options :



; AIR
- CLOUD

[

. BLUE

RAIN

Question Number : 63 Question Id : 8650044031 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

In a code language. ‘AIR" is called “GREEN’. "GREEN" is called ‘BLUE’. ‘BLUE’ is
called ‘SKY'. ‘SKY" is called "YELLOW’'. ‘YELLOW" is called "WATER" and
“WATER" 1s called ‘PINK'. Then what 1s the colour of the clear sky in that code
language?

28 §€& ey &5° ‘AIR' D ‘GREEN’ 9. ‘GREEN’ D ‘BLUE’ e. ‘BLUE' d ‘SKY"
2. "SKY' D "YELLOW' @. ‘'YELLOW' Q "WATER" &3 Sobcin "WATER™ Q
PINK @00 0908r6d. 02369 &8 §& erR &° 0,00 55780 COE), Sord DAE?

Options :

 YELLOW
, BLUE
PINK
SKY

Question Number : 64 Question Id : 8650044032 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

In a code language. ‘SKY is called “SEA". "SEA” is called “WATER". “WATER" 15
called *ATR’. *AIR" 1s called *CLOUD" and ‘CLOUD’ 1s called ‘RIVER’. Then what do
we drink when thirsty m that code language?

28 §& ey &5° ‘SKY™ D ‘SEA’e9D . ‘SEA" D “WATER'e . ‘WATER’ D ‘AIR e .
‘ATR’ D ‘CLOUD & &dasin ‘CLOUD” D ‘RIVER’ 92 eotr. &5 §& erines’
Gay8 SDADDED 0REL Dk TEbEEa 7

Options :

1 RIVER

ATR
WATER

L=

%
|

b, SEA

Question Number : 65 Question Id : 8650044033 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



If ‘nitco sco tingo” stand for “softer than flower’. “tingo rho mst™ stands for *sweet
flower fragrance’ and “mst sco tmp’ stands for "sweet than smile” then “fragrance’
stands for
‘nmitco sco tingo’ o) “softer than flower’. “tingo rho mst” e90é3 ‘sweet flower
fragrance” S08a3 ‘mst sco tmp’ 9083 “sweet than smile” 9D PP 936D
‘fragrance’ e90€3
Options :
, 1ho
L mst

; tmp

SCO0

Question Number : 66 Question Id : 8650044034 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Problem solving
DT FoD

Date, Time & Arrangement Problems
A8, Havobo, w00dte SRV

If today 1s Sunday. what day of the week will 1t be after 54 days?

& Ber ebI7600 wond, 54 Bew 36T°d HF\O T°6085'D D Bz PHSIed?

Options :
Saturday
FedsT 00
Friday
BOST 0L

Monday
AT 630

Tuesday
VoI 000

Question Number : 67 Question Id : 8650044035 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



Problem solving
AT TR

Date, Time & Arrangement Problems
a8, Honoie, wobLe (VAN

Atwhat angle the hands of clock are mnchined when the clock shows 15 minute past 57

fcolrdaw 5 fotw ddared 15 Dabadwen BLF D6IB0RY 346, Acaircsaw co0Ss),
Senw 6] DoE Eree

Options :
1 90°

65°

n

1I:I
6?5

66%9
4.

Question Number : 68 Question Id : 8650044036 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Problem solving
RV A

Date, Time & Arrangement Problems
B8, Lo, BoBBLL DD

Two clocks began to strike 12 together. One clock strikes its strokes 11 33 seconds and
the other in 22 seconds. What is the interval of time between the 6™ stroke of the first
clock and the 10 stroke of the second?

Toly fidoirdaney 2800 12 fotieny § Stlo DVGEODETAD. 25 Aea3rdan o)
Aoty 33 HERwes” Ediciod. T8 22 HEdwes” Ehduod. DGd ddairdan
g %.:ié B D fot)s). Codtd § eg&‘) 103 oS m<;55 200 9oddEAL wodhT

Options :
1 second
; | AasA

2 seconds
2 AsSA0eD

4 seconds
4 D500

3 seconds
3 DEARD



Question Number : 69 Question Id : 8650044037 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Problem solving
AT FOD

Date, Time & Arrangement Problems
B8, Padoobo, PGDGED SNV

X introduced Y saymg “he is the husband of the granddaughter of the father of my
father”. How 1s Y related to X7

Y Q DEGoHAD B X R 9T (. QAL H Soc D Sof, A0S So0209
aweg), B X &Y § o Doecdn IDS?

Options :
Uncle
£90508)

Counsin
. S&Ee

Brother-in-law
BT o008

K]

Brother

4 escac

Question Number : 70 Question Id : 8650044038 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Problem solving
NS IATY

Date, Time & Arrangement Problems
B8, Hdooho, PGnBED (RSVISIIY

If the first dav of a non-leap year was Fridav. then which was the last day of that vear?

28 Forén (0 $°H8)) RodSGAL CINE), DCE By #0865 o, e
QoS Ga0 cans) esa8 o

Options :

I=

Thursday
oy G0

Friday
BOST 0O

Sunday
es&He G0

Saturday
BITGAW



Question Number : 71 Question Id : 8650044039 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Problem solving
AT FOD

Date. Time & Arrangement Problems
@8, Hapoioe, BonbLe NSOV

Two trains arrived at a station at 9:30 AM and 10:00 AM with 47 minutes and 22
minutes late respectively, Then the time difference between their scheduled arrivals at
the station 1s

Socd B%by ST 47 Daaanen Subain 22 Asdb@Sen Hu"raé;ﬁnv&“ 28 DAD =

&l 9.30 Dby Sobaiw 10.00 Motwrsd BB o). &3 VDD DG £9a)
ooy QBIS DILCDIAVOL JH(IV T°O B30

Options :
55 mun

55 Dabare

48 min

48 DIren

30 min
30 Dwaren

42 min

5, 42 Dabdarew

Question Number : 72 Question Id : 8650044040 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Problem solving
AT FoD

Date, Time & Arrangement Problems
88, popaioe, BonbEe RDRLED

A. B. C. D. E sit around a round table facing the centre. E sits between D and A. C 15

the immediate right of B. and A sits between E and C, Then the person to the immediate
right of D 15

A.B.C.D. E 20 2,5 f30EA 20 o> Somrdnang SrdonT7)dd. D Sodain A v
g E srdoyTy 6. B S DAoLV LR C DENA PHT°) . E Hodain C o

20635 A S7E1\D HT) 6. P D § D0DowD DADDI DWND HID) I8

Options :
l. A

, B
3: 62



4 B

Question Number : 73 Question Id : 8650044041 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Problem solving
AT FoR

Date, Time & Arrangement Problems
88, Hapoie, Bwoobte A2

If * represents multiphication. & represents addition. A represents division and V
represents subtraction. then

TVEBA2*5@3=
* esorR) . ©® erdsdy | Aoy vdain V BB AR, €93
TVBA2*¥5®@3=
Options :
L -10
5 18

-16

L

24

Question Number : 74 Question Id : 8650044042 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Problem solving

:omfjv;;‘ 5 TP

Date, Time & Arrangement Problems
B4, Hioabo, GanbLe SEANION

xRy=2x+3yH xOQ@y=xy+3 = 2R3)O(ERYH=

Options :

| 104

377

L2

342

243

Question Number : 75 Question Id : 8650044043 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



Problem solving
R FoD

Date, Time & Arrangement Problems
A4, Hapaobe, onbLe (SVIAIY

Hxiv= v —_1"? and v s v = 7 ¥ .1"-. then the digit in 10°s place of (457)7(253)1s

YEY =20 =1 S0B050 x5y =x" +17 eand, @Ry (451) 1 (25 3) chog), DEde
,g“am::e‘iﬁi} SEELY

Options :
1 2
3 7
4
3
4 1
Mathematical Ability
Display Number Panel: Yes
Group All Questions: No

Question Number : 76 Question Id : 8650044044 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Arnthmetical Ability
CETaY=Tath 1] &mgﬁ@
st —4
Ifa=b and ab # 0 then {“ﬁ%} =
aZ—{ab)*
abYE-b2 e
aib@ﬂnabiﬂﬂm@{%} -
aZ—{ab)3
Options :
5
1 a
g
g 8
L
T



Question Number : 77 Question Id : 8650044045 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Arnithmetical Ability

e Sicded avmgﬁ@

247,757, 408 = 2* 3¥. 52 =2 xtytz=

Options :
1, 87

9 12
48
24

Question Number : 78 Question Id : 8650044046 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Arithmetical Abality
paodieded g, e

=)
A and B have savings m the ratio 4:5, They decided to buy a gift shanng its cost in the
ratio 3:4. It A spent % of his savings while B 1s left with Rs 145 after they purchased
the gift. then the ralu:: of the gift (in rupees) 15
AB Tz 323 Taw) Dd 4:5 , TW 3:4 D 9S° Ter BAED w8 TR
E2er8 BaotHET) . &8 5L §3) BT S, A 83 I8 A TP % s
Hod ©o0er), B 82 56 Tz Taw), .145 DoADersd (20D & Tve Dewsd

(orrodyeres”)
Options :
105
1

140

L

3 160
175

Question Number : 79 Question Id : 8650044047 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Arnthmetical Ability
eaadriced bmgﬁ@
= 1 1
x=2V24+7 =>—_(x+—)=
V2 X
Options :

;4



42
; V8
4 82

Question Number : 80 Question Id : 8650044048 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Arnithmetical Ability

eapdricied bmgé@

P |

(44T ) + (45 ) =pvT0 = p =

Options :

| 242

-t
fud | =

Td

Question Number : 81 Question Id : 8650044049 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Arnithmetical Abality

eaodricied 3"5‘”%5@

A and B are two alloys of gold and copper in the ration 7:2 and 7:11 respectively, If
equal quantities of these alloys are melted to fori an alloy C then the ratio of gold and
copper ih C 1s

A, B e0 eotTGo, T°AS DE\ED oty D3y S 5fen, ToE6° oo, TR Dipydoew
AR 7:2, 7:11. RATR edodre & Bodd 23 5 PR $8AcL) 8'S 3
&% C D6482. C &° wolTdo, T iy Dod ?

Options :

1_6:5

_9:4

L-

| W

L

g T3

Question Number : 82 Question Id : 8650044050 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



Arithmetical Abality

modricied ,ﬁvmgﬁ@

The value of the digit ‘a’ i the number 43a4567 such that it 1s divisible by 11 is

Qof 4334567 Ao 11 & 2rPowerda budﬂ;&&aﬁn EotiODVND 908 3 LeNd

Options :
. 8

7

L2

Question Number : 83 Question Id : 8650044051 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Arnithmetical Ability

e Sricied avmgﬁ@

The muunber of integers from 200 fo 400 which are divisible by 7 is

200 &oow) 400 S65) fw f@gosﬂuﬁﬁ 7 @ erhotie)d T8 Doy

Options :

Pl
1 By I

Question Number : 84 Question Id : 8650044052 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Arithmetical Ability

ea0Lricieh avmgﬁ@

The least square number that 1s divisible by 3. 4. 5. and 6 1s

3,4, 56 o3 rhoded SRJ%:J%? 'r’.aoa_u%
Options :
. 60

400

~



5 900

, 1200

Question Number : 85 Question Id : 8650044053 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Arnithmetical Ability

e Sicied avmgﬁ@

Leth and g respectively denote the least common multiple and the greatest common
divisorof e and b. Ifh: g=20. 1, h+ g =250 and o = 480 then b =

3 20803 b © SR FrAoR Moedeze, (BN JATR] ereEen SERM],g
e08el. [1:g =20 : 1,hi+g =2520, a = 480 ©awd, v\ b =

Options :

, 600

8§00
900
1200

Question Number : 86 Question Id : 8650044054 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Arnithmetical Abality

eapdricded 3“@85@

The rational number given by 0.12 1s

0.12 & ol 26003 SLLS

Options :
&
25

[S¥]

Question Number : 87 Question Id : 8650044055 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



Arithmetical Ability

eandricied bvmgé@

- 2 ) . \ P o
If aj. a2, a3 and ay in the increasing order of the elements in the set {? ST E} then ag—a; =

A

DS {?*E-E'E} S0 ArUSTL SBIPH S200 a1, ax. a3 DO Ay VOS, WP Ay —a1 =

Options :
2

i

19

56

L2

17

56

15

56

Question Number : 88 Question Id : 8650044056 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Arithmetical Abality

eapdricied avmgé@

iy = “EJE a; = ?JE 3 = ﬁ and ay = \/3 then their correct order is

a; = V4, a; = V5, a5 = V7 208050 a4 = V3 ©ona o8 2800 S0

Options :
@y > 0y > a3 > Ay

@; =az =g =@M

L2

{13}[1'4}{11}{12

P {14}[3[3}{1'1}(1'2

Question Number : 89 Question Id : 8650044057 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



Arithmetical Abality

eapdricded ,ﬁvmgé@

For a rational number r. if we add 3 to its denominator it 1s 3 and if we add 4 to 1ts

g B
numerator it 1s 1 Thenr=

2,8 oot Roa| 1 &, D FTrDE 3 ¢DHS o %?ﬁ“ oD 08 4 €958 wd %
BDB0G. DN T =

Options :
3

7

>
9

Question Number : 90 Question Id : 8650044058 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Arithmetical Ability

eapdricied avmgé@

If the length and breadth of a rectangle are increased by 20% and 25% respectively
then the percentage mncrease in its area is’

28 QY BBOOReS” TEY, DEVYVR JOAM 20%, 25% Hodd &rd DTV
D60rLGL T do

Options :
45

l.

5

50

28

Question Number : 91 Question Id : 8650044059 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



Arithmetical Abality
esosriciad ,ﬁvmgé@

One litre of water 1s evaporated from 6 litre solution contamng 5% salt and 95%
water, The percentage of salt in the remaming solution 1s

5% &3y, 95% Do £9AD 6 D B30 s Dexdd Db e3DB woI'does. DHDD
G085 &y Fdo

Options :

!

4

A

1.

. 3

4. ©

Question Number : 92 Question Id : 8650044060 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Arnithmetical Ability

oS ricle &mga@

A sells an article to B for a profit of 20% and B sells the same to C at a profit of 25%.
If C pays Rs 4500 then the price (in rupees) A bought 1t is

A 28 S0P B § 20% wrerds, 08 SaHAd B 20858 C & 25% wrerds

93507 0. &5 HRWPHH C & 4500 383 &) A §3) du(drdraibes’)
Options :
| 1500

3000

Question Number : 93 Question Id : 8650044061 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Arithmetical Abality
esotricia ammga@

Selling two items each at Rs 240/-, a merchant gets a profit of 20% on one and a loss
of 20% on the other. In this whole transaction the merchant gets
2.8),8),8 6 240/~ 2 A Told WD 28 SRS wsTrIP 207 e-Fo,

ST 207 So SO, & Ao e.:“;r“abj‘ﬂ SOV SR,

Options :



4% profit
, 4 7% erZe

49%; loss
4% éfﬁu

Lo

10% profit
107 erdo

il

10% loss
N 10% é@n

Question Number : 94 Question Id : 8650044062 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Arnithmetical Ability
esodricia bmgﬁ@

In a joint business A. B and C invested capitals in the ratio 5 : 6 : 8 and the periods of
investments are i the ratio 8 : 5 : 15, If the share m the profit for A 1s Rs 15000/-
more than that of B then the share of the profit for C (in lakhs of rupees) 1s

GG T(D°0ed” A, B, C & DEnescw Jind 5:6:8, 570 DALV 570 Ay
8:5:15. erZoed’ B o8 A S cb. 15000 o'J.":‘.}zJ;ﬁ O RN erzod” C oot (wge
draroteses”)

Options :

i 0.18

1.8

o]

18.0
180

Question Number : 95 Question Id : 8650044063 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Anthmetical Ability
es0dricded S}vmgﬁ@

A and B started a business with investments of Rs 24000/- and Rs 30000/-
respectively. After 6 months A withdraws Rs 4000/-, In the year end profit of Rs 1.04
lakhs the share of A (in lakhs of rupees) is

SO 6. 24000, 6. 30000 © Dewedes A, B e T (S0e J6odetrdd. 6
QL ST A S ::-%}:um&. Aol . 4000 &R0S ) 6. DodB\To erdo 6. 1.04

VLS A Trer (wEe GrdroDe’)



Options :

0.33
1.

0.43

-

0.44

4 0.48

Question Number : 96 Question Id : 8650044064 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Arithmetical Ability

es0lriced avmgé@

A tank has three pipes P. Q and R. The pipes P and Q fill it independently in 4 hours
and 5 hours respectively while R empties it in 2 hours. If P. Q and R are respectively
opened at 1 AM. 2 AM and 3 AM in that order. then the time when the tank will be

Smpty 1s
-?.JSPS:QE;IQ Bored Dotpen P, QR &77)om. D6° P,Q en DADET SO 4 rfotes”, 5
(foe0e5° DEHRM DoDAVAT R &R 2 Kotiwes” ar? Babrwd. & Doipen P, QR
VR SEVT GB00 1 (oL, 2 HotwS), 3 (oS &3 §A0d” IS & I8 ar?
£90[04E) D20oDo

Options :

14 PM

Frododhe 4 riotren

2PN

Foodho 5 Hotsen

L2

6 PM

Faodo 6 fotiew

7 PM

; ~rofodho 7 Hotien

Question Number : 97 Question Id : 8650044065 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



Arithmetical Ability
eSS ricdes &umgé@

Two pipes P and Q can fill a tank i 10 howrs and 12 hours respectively, If they are
opened alternately for one hour each. starting with P. the time required to fill the tank 1s
28 S'HI Dot DoHe ST 10 fotrew, 12 Hotwds® VoDV . DB 8 &
SOTS DO (ot SWeVSr, & DG PE TdedD, &8 T8 Jocerds DG D2vabo

Options :
11 hours

11rot)en

10 hours 50 nunutes
10 fote 50 Dvaren

10 hours 40 minutes
10 fiotder 40 DAnren

10 hours 30 munutes
10 fiotier 30 Daarew

Question Number : 98 Question Id : 8650044066 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Arnithmetical Ability
eoptricied E}vmgé@

A train travels at a speed of 40 kmph through urban areas. 50 kimph 1n suburban areas
and 75 kmph in rural areas, If the trip of train has half-an-hour travel mn wrban areas.

1 ; i
3 5 hours through suburban areas and 3 hours m mral areas then the average speed (in

kmph) of the train during the entire trip 18

2,8 DeD (fotrgs 40 8.20 Sred A6 Froorwes’, Foti 50 8.00 Ded A6 I
Fomres® | oty 75 8.2 Dried ML Fromred’ HOLTHe SRV, &3 T 6ot
) A6 Froord”, 3 %ﬁo&)&:ﬁ)'@ HEGITE Froored” S8R 3 (otien T

Fomres® HOITHD , B0 DOSTE0 S Tew TR0 Do (ot 8.2 &°)

Options :

52
k:

h
n



Question Number : 99 Question Id : 8650044067 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Arithmetical Ability

eapdricied éumgé@

A car driver driving at 68 kinph locates a bus 40 meters ahead of him and after 10
seconds finds that the bus i1s 60 meters behund. The speed (1n kmph) of the bus 1s

ot 68 8.2 Diod’ DD 28 T EIHH 28 LRV S2SoE] 40 LIS
200CR) 8D, 10 BSAY B6I°S &5 2Ry 60 boéag DAS PR A (D0JotrED. &
e370y Dfo (foersd 8.2 &°)

Options :
5
50

Question Number : 100 Question Id : 8650044068 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Arnthmetical Ability

e Sricied bmgé@

It 3 men or 4 women can reap a field i 43 days then the number of days required for 7
men and 5 women to reap the field s

3 J00d HdEpen Foe 46 éu:: 2,8 Terdy 43 5226 o) DAS, ©d Terdy 7
2008 PRV, 5 2od e doR) 19AD Bwe Doy

Options :

£2
L.

11

[

5 10

4 9

Question Number : 101 Question Id : 8650044069 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



Arithmetical Abality

eapdricded %vmgé@

P. Q and R can complete a work independently in 15 hours, 12 hours and 10 hours
respectively. P and R started the work and after 5 hours Q joined them and completed
the work. The time (in minutes) Q worked 13

P. Q, R &0 28 HAQ D DoGor H6RM 15 rfobiew, 12 dolsew, 10 Holiwes” 17§
BabAwd. P, R o &5 DI Fr6ododdd 5 fobrw) S6T°¢ 588 QB8 esHDID 1370
BIED. Q DA BAD Do (AIE’)

Options :

32

L.
, 40

45
60

Question Number : 102 Question Id : 8650044070 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Arithmetical Abality

eapdricied bmgé@

If the circumference of a circle is mncreased by 50% then the percentage increase in its area is

28 BB HBB 50% oS &= PFwed dDdbGL TS0

Options :

, 100

125
, 150

225
4 oo

Question Number : 103 Question Id : 8650044071 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



Arithmetical Abality

eapdricded ,ﬁvmga@

Inn the figure given below both the semiicircles have radius 7 units each and AB is a

tangent to these semicircles. The area (in sq. units) of the portion % m the figure is

Sots WD DBo &' Dot B8 HTrew 28,50 7 0rde .;r’?g.i‘r"go Sws), AB &5

ot TS 06,88, 6 Do’ % § ABocseadd i) T Lo

il

Options :
1 983(4 —m)

49(4 — x)

| ]

3 2454 — )

14.79(4 — @)
4

Question Number : 104 Question Id : 8650044072 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Arithmetical Ability
esoscicia avmgé@

The maxumnum possible length (1 cms) of a rod that can be kept in the rectangular box
with dimensions 5 em X 4 em X 3 cm 15

5 0.2 X 4 Do.ad X 3 V0.0 OISR 28 AGEROIT 6 DHES" BB (L
8¢ dBE TE (230.8) &5°)

Options :

5v2
10
1042

20

1,

L

Question Number : 105 Question Id : 8650044073 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



Arithmetical Abality
esosricia ,ﬁvmgé@

The radius of a sphere and the radius of the base of a right circular cylinder are equal
to r. If the ratio of the volume of the sphere to that of the cylinder 1s 8 : 3 then the
height of the cylinder 1s

w8 A a“@“go. 28 TS0 AFDY FrT (TS r & DATVe. &8 Ao, ATDV

20X DOSTETFL S 8 1 3 oS &8 VDY) JBO.
Options :

j, &

r

o= | 2

oo

Question Number : 106 Question Id : 8650044074 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Arnithmetical Ability
evotricied E}vmgﬁ@

The radius of a roller 1s 35 cm and 1ts length of 3 meters. The area (mn sq.mts) it covers
in 25 rounds 1s (Take n = %j,
2.8 B T§Fgo 35 20.Q, oD TP 3 WA, 0B 25 Togd SOHNBE #rAop
53 pTee (5.00.0 & )( 1= SwFed)
Options :
p 33
R -5

198

231

Question Number : 107 Question Id : 8650044075 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



Arithmetical Abality
esosriciad ,ﬁvmgé@

The perimeter of a rhombus is 40 cms and one of its diagonal is 16 cms long. The
length (in cms) of the other diagonal 1s
28 DIBBOEN S0 BEEVES 40 0.2, D wE Do T 16 Do.d. T

208 Dsgo Ty (230.20 &5°)

Options :

15

2, 13

5 12

., 1

Question Number : 108 Question Id : 8650044076 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Arithmetical Abality
espsricied avmgﬁ@

The number of revolutions made by a wheel of 42 cms diameter in covering a distance
of 1.32 kms 1s (Take n= %’}.
42 0.2 TG00 S0 2.6 Bgo 1.32 8.0 GrTrD) DvErdE B BBV Vo (1=)

Options :
30
1.

5 300

; 400

" 1000

Question Number : 109 Question Id : 8650044077 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Arnithmetical Ability
esotricied &mgﬁ@

For integers a and b: and for mnteger 7#>0 we write @ = b (mmod m) if m divides a-b. if
82017 =5 (mod 13)and 0 = n < 13 thenn=

2PTesT 3,b U, YrgreSo m>0 & (a-b) mS AR NG a =b (mod m) @
TPar .

8797 = n (mod 13) @HS 0 < 1 < 13 900 )1 =



Options :

i

>
L

L)

Question Number : 110 Question Id : 8650044078 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Arnithmertical Abality

eodricied avmgé@

(1100.001); = (x)g = x =

Options :

; 12.125

13.125

Question Number : 111 Question Id : 8650044079 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Algebraic and Geometrical Ability

Ao, g ST &mgée

The contradiction. among the following. 1s

81 S08 Tredes” chﬁigo

Options :
pAq

pA~q

L3

pV~p
pPA~D

Question Number : 112 Question Id : 8650044080 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



Algebraic and Geometrical Ability

Do, 2Fgak) &mgaa

The inverse of the proposition (p A ~q) — r is

(pA~g) = ré DS 200

Options :

1 (pA~q)—>-~r

(vpYg) &1

L-a

: (~pAq) = ~r

; AP Vig) == =F

Question Number : 113 Question Id : 8650044081 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Algebraic and Geometrical Ability

Do, 2 gD0a% &mgéa

iy = {x E R: —%{ y g %} form=1,2.3, ... .o s oo then Iy M L5 =

TR st o in Bl == {x Cl: —tecxc ﬂ 200 WP\ I; N Ij3 =

n

Options :

Question Number : 114 Question Id : 8650044082 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



Algebraic and Geometrical Ability

Do, g0k &mgﬁe

Let L be the set of all straight lines in a plane and R = {(I},1;) € L x L|l;

is perpendicularto [;}. Then on the L the relation R 1s
0S8 PADwo 5°R) PEFoDL DB L ewd R ={(l;,[;) EL X L| ;3 wotiol; }
08 od. BN L 3 Dotlotio R

Options :
Symmetric

1 il"é}léﬂ

reflexive and transitive
2T 0A0, ReSalo

svinmetric and transitive
ﬂ“@;ﬁo . PoSauo

an equuvalence relation

&JUTS AotloGo
4

Question Number : 115 Question Id : 8650044083 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Algebraic and Geometrical Ability

Do, gD &mgﬁe

Let N be the set of all natural numbers and f: N — N be defined by f(n) = r. where s
1s the remainder when » 1s divided by 17 for anyn € N. Then {n € N: f(n) = 3} =

R RR0ET P Ned, 98 nENS f(n) =r,(reodd nd 17 & erhodm Stdy
#20) 1™ DEDDD DpIvade. f:N —= N 0 exufod. @)@ (n EN: f(n) = 3} =

Options :
, 3}
U430 =123, w: iinud
2 I3k $17:E=0123 _......}
, A7k +3:k=0,41,42.43, ...}

Question Number : 116 Question Id : 8650044084 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



Algebraic and Geometrical Ability

Do, eFgSal &mgae

If the lines ax+2v+1=0,bx+3y+1=0andcx + 4y + 1 = 0 are concurrent
then @, b and ¢ are in

RO¥0ew ax+2y+1=0,bx+3y+1=0,cx + 4y + 1 =0 e 005 w00d
RN a.b,C, B PHoEd

Options :
an arithmetic progression

| 8 oo 30e5°

a geoletric progression

28 o 365°

1

a harmonic progression
28 o) 8 3ce5°

L

an arithmetic — geometric series
28 es08-rm oS

Question Number : 117 Question Id : 8650044085 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Algebraic and Geometrical Ability
DAoL, 2rDoBoL &mgéa

If the Line through the points (7. -2) and (4. -5) cuts the coordinate axes at A and B

then the length AB is
Doconen (7,-2) , (4,-5) © o T'ad HOF0 AddsToway ABw Sl Dol
DN AB TED

Options :
. 9

92
18

, 18v2

Question Number : 118 Question Id : 8650044086 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



Algebraic and Geometrical Ability

Do, eFgSal) &mgﬁa

fan A% — 9. = tan 250%+tan 150%
= - I—tan 250°tan 150°

Options :
1 X

| e

Question Number : 119 Question Id : 8650044087 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Algebraic and Geometrical Ability
DA, 2rDoBoL &mgée

[f270° < 8 < 360° and cot @ = —V/3 then cos 8 =

270° < 8 < 3607, cotf = —V/3 wand )y cos b =
Options :

v3
1 2

1
V3

~ |G

1
V3

Question Number : 120 Question Id : 8650044088 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Algebraic and Geometrical Ability
Déod, 2juaaD ih;ngﬁe

(14 cotf —cosec 8)(1 + tan @ + sec @) =

Options :

0
L.



Question Number : 121 Question Id : 8650044089 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Algebraic and Geometrical Ability

Do, 2§D E:vmgée

The angle of elevation of the top of a tower from a point P on the ground 1s 45° and
moving s feet towards the tower the angle of elevation is found to be 60°, The height
(in feet) of the tower is

Do 208 oot P dvod 0156 perdio ) A o 45° gol 208050 056
DY Scvendud) Voo 5 VLD GIrde ol LH6 Perre 60 ° Feod® &dyew
(Botrdd. 56 aiwg), deb (echrbe &°)

Options :

l.ﬁs
.(V{g—l)s
g (ﬁ%—l)s

AT
1
4. v

Question Number : 122 Question Id : 8650044090 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Algebraic and Geometrical Ability

Ddab, gD E:vmgﬁe

2 and

The highest common factor of the polynomials p(x) = x* — 2ax® — 3a°x
q(x) = x® — 2ax* — Ba?x’is
paodoen p(x) = x* — 2ax® —3a?x?, q(x) =x° — 2ax* —8a’x’ w glete]

i‘r’:m-'bé S GtFeSo
Options :

x2(x + a)
3

x%(x — 3a)



Question Number : 123 Question Id : 8650044091 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Algebraic and Geometrical Ability

DAoL, 2FgD0Ba1 Eﬁmgﬁ@

If x% 4+ x — 2 is a factor of x* + 3x° — 8x% + p(x), where p(x) is a linear polynomial
then p(x) =

p(x) D& s oudd enadr  x* +3x7 —8x% +p(x),8 ¥* + x — 2 sOrToso
a8 P P(X) =

Options :
, =1A4%=: 16

12x — 16
x+16

x— 16

Question Number : 124 Question Id : 8650044092 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Algebraic and Geometrical Ability

Do, ATy &mgﬁe

If p(x) = 2x° 4+ 5x + 1 and g(x) = x — 4 then a factor of g(p(x)) is
p(x) = 2x% +5x + 1, g(x) = x — 4 22008 g(p(x)) a3, S°6eToSo

Options :
X=10

251

N x+ 2

2x—1

Question Number : 125 Question Id : 8650044093 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



Algebraic and Geometrical Ability

Do, 2y D0a% g e

=)

Ifx+1and x — 1 are factorsof x°> + 2x2 +ax + bthena + b =

x*+2x tax +hSx+1,x — 1 e SO0 e and W) ath =

Options :

-2

1.

-3

=]

]

Lo

Question Number : 126 Question Id : 8650044094 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Algebraic and Geometrnical Ability
Dok, 2rjnaaD &mgﬁ@

In 10 years. A will be twice as old as B was 10 years ago. If A 15 9 years older than B
then the present age (in vears) of B is

10 F.}a;ﬁéﬁﬂ“ué'ﬁ , A Do 10 DodSore Scto B Sodw & B0y BHBVd. A
Sof) B 2 VoD TPen G00HR0) Cons B DR0e Salrw

Options :

19

1.

29

3 2%

49

Question Number : 127 Question Id : 8650044095 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Algebraic and Geometrical Ability
Db, apjodaD Eﬁmgﬁ@

The number of solutions of the system of linear equations x + v+z =3, 2x + 2y —
z=3amdx+y—z=11s

DEnTo pDoLEsTY e

x+y+z=32x+2y—z=3,x+y—z=18% 0 Fed0 doa)

Options :



0
i 1
Finite
: 2808 ‘rbna;r";isu

Infinitely many

; e928a0eh “’n}narsso

Question Number : 128 Question Id : 8650044096 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Algebraic and Gepmetnical Ability

DBoi, FgESaly &mgéa

i . y 1 39
If a;,a;,as, ... ... ... ..., @1g are 19 arithmetic means between + and — & then a; =

@1, 0, @3, e ey Gy O 5 DOBOEN — = © BB 19 0D DEIFOONS RN a7 =

Options :
E
1 4

13

3]

Question Number : 129 Question Id : 8650044097 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Algebraic and Geometrical Ability

DA o, STy &mgéa

If the sum of the first six terms of a geometric progression is 9 times the sum of the
first three terms then the common ratio 7>/ 1s
208 (63 BESANVGES BB DI Ado , T7D WG 2T HEFL ATDE 9 T

290008 BDEd T7D FArRd) S r>1 Dewd

Options :
2

!. =
L]



h

Question Number : 130 Question Id : 8650044098 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Algebraic and Geometrical Ability

Ao, STy ih:ngée

(14 x4 )= Eiu apx® = Y _gaa =
Options :

(37 + 1)
~(3"— 1)
~(3"+ 1)
S(@m -1

Question Number : 131 Question Id : 8650044099 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Algebraic and Geometrical Abiality

Doy, b Tons &mgﬁa

If the sum of the binomial coefficients in the expansion of (a + b)" is 512 then the
greatest binommal coetficient 1s

(@a+b)" DS BLDE (brse Awde 512 ond TBS™D BdDHE &YHE WEse

Options :
252

1.
7 2d U
126
120

Question Number : 132 Question Id : 8650044100 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



Algebraic and Geometrical Ability

Do, 2y D0ak i&vmg_ﬁ@

If @, b and ¢ are such that ak? + bk + ¢ # 0 for some k and if the determinant of the

a b ak + b
matrix b c bk + ¢ | is zero then a. b, ¢ are in
ak+b bk+c 0
a, b cen ak? + bk 4+ ¢ +0 e_*:roi)?ge-.:gp Gol k e Srds
a b ak + b
b c bk + ¢ ngSo ROT°) VOB BN 3,b,C W Dold 28
ak+ b bk+c 0
Options :
an arithimetic progression
208 e90) FE65°

1,

a harmonic progression
28 oS 3ce5°

an arifhinetic — geometric series
2,8 Bos-fom 34e°

Ly

A geometric progression

, 8 e 3AS°

Question Number : 133 Question Id : 8650044101 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Algebraic and Geometrical Ability
DB0D, ergDodoD Frg

=)
1 & 0 =i
Therank of thematnx| 3 4 1 2 |is
= e S
1 2 0 =1
Sr@e| 3 4 1 2 |ciwg §8
=S A .
Options :
1

L.
2

"



fad

Question Number : 134 Question Id : 8650044102 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Algebraic and Geometrical Ability
Dok, 2pfaaD ::ﬁv;ngé@

l i111 \-"E—\-'rﬁ-Fu x—2a
—=Za

1*.'}:2_4_32

Options :

]
[l
=]

Question Number : 135 Question Id : 8650044103 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Algebraic and Geometrical Ability
Dok, 2faaD .5".:13%5@

1_ EI—E —X
My =
x—=0 sl X

Options :
-1

.0

I~

Question Number : 136 Question Id : 8650044104 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



Algebraic and Geometrical Ability

Do, eFgnSBal &mgﬁa

In AABC the bisector of the angle A meets BC m D and DE 1s parallel to BA meeting
. : AE e

AC m E. then ks

AABC ¢5°2 &m0 A 33;33&5&30-1&53} BC R D;ﬁg Sewar,BAS RareddarTraot DE

zhase AC D E 3¢ 290 oridsiot ey =

Options :
AEB
AC

AC
AB

BC
AR

AB
BC

Question Number : 137 Question Id : 8650044105 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Algebraic and Geometrical Ability

Do, gD &mgae

The sum of the interior angles of a regular octagon. in radians. is

208 S0 RFRG D oS v AGo, BEODHJES’

Options :

27T
1.

2 4
61

8w

Question Number : 138 Question Id : 8650044106 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



Algebraic and Geometrical Ability

Do, eFgESal ih;ngaa

Let AC and BD be two diameters of a circle with centre at O and having circumference
9 units, If LOBA = 70° then the length (m units) of the minor arc BC is

O &ﬁ% Sogs <0A, r.ﬁJ%JAJ%"Ue‘.ﬁ 9 Q‘iJJf-'JE.ﬂDaJ 28 Syz-d8 AC, BD ew Gedd .‘.T';S.ﬁ“e_u
LOBA = 70° eso03 arRGeTo BC R ot

Options :

Question Number : 139 Question Id : 8650044107 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Algebraic and Geometrical Ability

DAoL, 2FgDoSal ::hmgﬁe

If (a. b) 1s a pownt such that 1ts distance to (4 . 0) 1s twice 1ts distance to the origin then
3(a? +b?) =

Do) (a,b) 928 (4,0) S & Grdo, Arudotidd) Ao P AT WS ﬁ&gnm
eI0II00ET IIDED 3(a’+b%) =
Options :

N 8 —4a
, 16—8a

O —8a
3

9 —Ba

Question Number : 140 Question Id : 8650044108 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



Algebraic and Geometrical Ability

Do, 2FgDaak) &mgaa

The length of the median of AABC through B. if the vertices A, B and C are
respectivelvat (4.2).(6.5)and (1. 4) is
4.2).(6.5),(.4ed60m AB,C %‘g‘uaﬁa Ardy AABCS B SN Tad

mqsrgﬁej o

Options :

V65

1
1565
Ay

e =

—/65

S VeE

Question Number : 141 Question Id : 8650044109 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Statistical Ability

Roarge ﬁvmgé@

and 1s 8 then the arithmetic

m|:-

v &

-I‘:-»la

It @ > 1 and the median of the observations %

mean of the observation is
a > 1 e, HdTODH)
o) mqﬁémc

r.J|:|

% % %u 2060 8 oS BNy & HBTLHL

Options :

1 8

9
10

[

10.96
4,

Question Number : 142 Question Id : 8650044110 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



Statistical Ability

Roarge 5"51"35@

The mean deviation about the median of the observation 25. 34. 31. 23. 22. 26, 25, 22.
20 and 32
“BPden 25. 34, 31,23, 22.26. 25.22. 20 A2 mc,‘f;sﬁejc cq;g{j -;'.IJGSTS;DMFJFGG

Options :

-

2
i

Question Number : 143 Question Id : 8650044111 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Statistical Ability

Roarge 5"5333?5@

The mode of the distribution whose mean and median are respectively 24.5 and 24.375 1s

2,8 QEIPRDOMED armémo, mcﬁéﬁ@a ST 24.5 24,375 29008 BFA) EFPETOESe

Options :
24

24.125

24.250

L

L

24 375

Question Number : 144 Question Id : 8650044112 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Statistical Ability

Roarge 5“5335@
If o 15 the standard dewviation of x;(i = 1,2, ... ... ....,n) then the variance of
S+ 3 = L2 . rusuyifl) 18
G(I=12 . .....,n) 0D SISV 0 290208 BN
55+ 3 (=12 .o, ) 0 DB
Options :

V5

1,



Yo

: 56249

2
3 250

Question Number : 145 Question Id : 8650044113 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Statistical Ability
RoaTge .%)vmgéﬁ

The observations x;(i = 1,2, ............,15) of an experiment it is given 151 N =

170 and Y12, x? = 2830, Later it is noticed that one x; is entered as 20 instead of the

correct value 30, The correct value of their variance 1s

2,8 HOIMe ° HBIVJen Gl =12, ... LAY Yt =170, ¥ =
2830 00 @ . ST 28 x; $ VBELRD DS 30 S axden 20 M SRODD &
B2V, T DRyS POALD Densd

Options :

| 18

1 8.33

3 185.66

VET33

4.

Question Number : 146 Question Id : 8650044114 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Statistical Ability
Roarge &mgé@

In the calculation of rank cormrelation coetficient (r) of 8 observations it 1s found that
Yd? = 40.5. where d; are the deviations. Then the value of r is

8 HBwdL 58 diradowed Mo (r) Aed Sobdes” Yd2 = 405
SRS T . RS 6 d; DBVTVR AFDAB. PN I Ded

Options :
27
56

29
56



3l

56

33
56

Question Number : 147 Question Id : 8650044115 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Statistical Ability
Roarge By e tTe iy
o

If A and B are two events of a random experiment such that the probability that at least
one of A and B occur 1s 0.6 and the probability that both of them occur 1s 0.2 then

o(2) + p(B) =
28 airEyDys HArHoSD Toth e A B 08 T786° S0 28], B 287
RoerS(e 0.6 M, A,B Bod 20030 DE STwo 65" 260 Rordd 0.2 TR0 &old
@y p(4) +p(B) =

Options :

0.8
L

0.9

o]

3 L2

g 4

Question Number : 148 Question Id : 8650044116 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Statistical Ability

RI0gTgE Dranges
&
A munber n in chosen at random from the set {1.2.3..........50}. The probability that
y/n 1s an irrational mumber is
RS {1.2.3.........50} Aood 58 POB] N A TGN EoTT Dods BI G, YYD
Jn g easdedat 208§ o0y RIS
Options :
A
| 50
i3
, 50
43

50

L



37
4, o

Question Number : 149 Question Id : 8650044117 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Statistical Ability

Roarge ﬁvmgé@

Two unbiased six-faced dice are thrown. The probability the sum on them is a prime. 1s
Boc DT\ 2€ &6 g FIE0R Sotrdd. T8 e Rofe 2o 28 DO
“n::oa:&?g wdiné ?&n&;"&ﬁé@

Options :
i9
36
17
36

15
B

13
36

Question Number : 150 Question Id : 8650044118 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Statistical Ability

EEV 3"51‘35@

Let F be the set of all functions from the set A of 4 elements to the set B of 6 elements.
The probability that f selected at random from F is an injection 1s

4 Jrose DS A Aod 6 Arwste 28 B & Ao HAvoires £9AD Haba F
080l & F ol asre;d S dods B Ddoaio f dse 901 Roerofe
Options :

5

L £

e P R e I M, [T S



Display Number Panel: Yes
Group All Questions: No

Question Number : 151 Question Id : 8650044119 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Choose the correct meanmg of the word given:

Insolvent
Options :

incapable of being solved

unable to pay one’s debt

incapable of being dissolved

el

disobedient

Question Number : 152 Question Id : 8650044120 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Choose the correct meanimg of the word given:
Terrestrial
Options :

| worldly

earthly

[

heavenly

galactic

Question Number : 153 Question Id : 8650044121 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Choose the correct meanmg of the word given:

Emulate
Options :
1 deny

neglect
; lmitate

reprimand



Question Number : 154 Question Id : 8650044122 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Choose the correct meanmg of the word siven:

Progeny

Options :
genie
1l

comunandant
descendant

engineer
4

Question Number : 155 Question Id : 8650044123 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical
Choose the correct meanimg of the word given:

Unrelenting

Options :
1 extremely determined

extremely weak

extremely flexible

extremely sympathetic

Question Number : 156 Question Id : 8650044124 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Choose the correct meanimg of the word given:

Obstinate
Options :

obscure
intlexible
tlexible

i abese



Question Number : 157 Question Id : 8650044125 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Fill the Blank choosing the correct word
One who anticipates the worst at all instances 1s described as a/an

Options :

1 optimst

pessimist

L2

anarchist

" democrat

Question Number : 158 Question Id : 8650044126 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical
Fill the Blank choosing the correct word

As the actions of the officer were uncivil. he had to be

Options :
1 praised

. recommended

; promoted

reprimanded

Question Number : 159 Question Id : 8650044127 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Fill the Blank choosing the correct word

The pilot was mjured: he died on the spot.

Options :
; fatefully

fancifully
tatally

lightly
4.

Question Number : 160 Question Id : 8650044128 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



Fill the Blank choosing the correct word

Several news channels provided extensive of the commonwealth games.

Options :
network

holocaust

broadcast

coverage

Question Number : 161 Question Id : 8650044129 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Choose the correct answer
A joystick
Options :

helps in storing information

helps in complicated calculations

serves as a substitute tor hardware

helps easy movement on the screen
4,

Question Number : 162 Question Id : 8650044130 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Choose the correct answer

Software that allows entry of muneric data in rows and colummns to facilitate its

analysis with mathematical formulas 15 called a

Options :
spread sheet

MS word
i Worksheet

Numeric data sheet



Question Number : 163 Question Id : 8650044131 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Choose the correct answer

A conunand used to change the attributes of a file is called

Options :
Backup

Tree

12

Reastore

2 Atmb

Question Number : 164 Question Id : 8650044132 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Choose the correct answer
Touch screen 1s
Options :

, an input device

an outpur device
an input and output device

a storage device
4

Question Number : 165 Question Id : 8650044133 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Choose the correct answer
A connection that allows one to move easily between two computer documents on the

internet 1s called

Options :
; Hyperlink

DNS

Lo

URL

r HTML

Question Number : 166 Question Id : 8650044134 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



Choose the correct answer

A batch of articles sold or bought at one time is known as a

Options :
: job lot

job ceintre

L3

job share

jobbing

Question Number : 167 Question Id : 8650044135 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Choose the correct answer

The abbreviation B.O.1 stands for

Options :
Real operation income

Return on mvestment

Range of investment

Roll on investment

Question Number : 168 Question Id : 8650044136 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Choose the correct answer
Recruiting personnel by offering more pay than competitor is called

Options :
; witch hunting

head hunting
: competitive recruitment

poaching

Question Number : 169 Question Id : 8650044137 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Choose the correct answer

In business. normative economics may be described as



Options :
objective and fact based

subjective and opinion based

evidence based
econonic policy of a company

Question Number : 170 Question Id : 8650044138 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Choose the correct answer

Articles that are purchased frequently for mmmediate nse and with a mummum effort

are called

Options :

Speciality goods
Convetent goods

Retailing goods

Fast moving goods

Question Number : 171 Question Id : 8650044139 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Choose the correct answer

“(Get out”. he told the boy

(change the voice)
Options :

The boy was asked by him to get out.

He was asked by the boy to get out.

He was begged to get out.

The boy asked to get out,

Question Number : 172 Question Id : 8650044140 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



Choose the correct answer

A: Their argninents do not rest on sound premises.

B: From the begimning. their plan was ill-concerved.
B

Options :

refutes the arrangement of A
does not totally refute the argument of A

seconds the opmion of A

has reservations about A’s opinion

Question Number : 173 Question Id : 8650044141 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Choose the correct answer

A: Excuse me, Can I have a copy of oxtord Dictionary?
B: I'm atraid we ran out of stock. just yesterday,

In this conversation

Options :

B is getting ready to give the dictionary

B expresses his inability to give the dictionary

B speaks arrogantly about the dictionary

L

B is hesitating to give the dictionary

Question Number : 174 Question Id : 8650044142 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Choose the correct answer

The officers were hand in glove with the corrupt publications. The underlined phrase

means
Options :

not bothered

totally indifferent

)



collnded

e 1Y

; disagreed

Question Number : 175 Question Id : 8650044143 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Choose the correct answer

[ walked a long distance foot.

Options :

011
l.

by
n

4 at

Question Number : 176 Question Id : 8650044144 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Choose the correct answer

It has been raining five hours.

Options :
for

since

L2

until

by

Question Number : 177 Question Id : 8650044145 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical
Choose the correct answer

Change the following mto passive voice:

May the best among vou win the prize;

Options :
May the prize be won among the best of you.

May the prize be won by the best among you.

Let the price be won by the best.



The best of you shall win the prize.
4,

Question Number : 178 Question Id : 8650044146 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Choose the correct answer

Doesn’t he his father!

Options :

take n

take off

1 talke after

take back

Question Number : 179 Question Id : 8650044147 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Choose the correct answer

The repair work will last a week.

Options :
smce

o1

o

111

for
Question Number : 180 Question Id : 8650044148 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Choose the correct answer

She 1s married a man younger than her.

Options :
; with

o

L2

for

at

Question Number : 181 Question Id : 8650044149 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



Choose the correct answer

His sons could not his expectations,

Options :
live upon to

live up to

live off to

L

8 live by to

Question Number : 182 Question Id : 8650044150 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Choose the correct answer

He their demands.

Options :
acceded by

acceded up
acceded on

" acceded to

Question Number : 183 Question Id : 8650044151 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Choose the correct answer

The lease of this commercial property has

Options :

;T through

I ot

3 turned out

| held ouf

I

Question Number : 184 Question Id : 8650044152 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Choose the correct answer

She finds it hard to with the other students of the class.

Options :
call on



call by

catch up

L

cui to

Question Number : 185 Question Id : 8650044153 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Choose the correct answer

The strike a change of government,

Options :
1 brought down

brought up

L

=

brought about

y brought at

Question Id : 8650044154 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (186 to 190)



Read the followmng passage and answer question

Gandhij1 was of a nipe age. but he was still full of witality and his capacity for
work was prodigious. The end came suddenly by the hand of an assassin. India was
shocked and the world gneved. and to those of us who were more intimately
connected with im the shock and sorrow was hard to bear. And vet perhaps. 1t was a
fitting close to a magmficent career and 1 hus death. as 1n his hife. he served the cause
to which he had devoted himself None of us would have liked to see hum gradually
fade 1 body and mind with increasing years. And so he died. as he had lived. a brught
star of hope and achievement the Father of the Nation which had been shaped and

trained by him for half a century.

To those who had the high privilege of being associated with lum m some of
his innumerable activities. he will ever remamn the embodiment of youthful energy.
We shall not think of him as an old man. but rather as one who represented with the
vitality of spring the barth of a new India. To a vounger generation who did not come
in personal contact with lnm, he 1s a tradition and numerous stories are woven round

his name and activities. He was great in hus life. he is greater since he passed away.

Sub questions

Question Number : 186 Question Id : 8650044155 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

‘Prodigious’ in the opening line means

Options :
extremely hardworking

extremely dedicated

extremely great

L

4 unbelievable

Question Number : 187 Question Id : 8650044156 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

The author was Gandhai.

Options :
| a stranger 1o

, atriend to

hostile to



close to

Question Number : 188 Question Id : 8650044157 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

According to the author. association with Gandhi as a
Options :

high privilege

tradition m itself

1

magnificent opportunity

youthful experience

Question Number : 189 Question Id : 8650044158 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

The author Gandhi’s death

Options :
celebrates

condemns
presents the positive side of

presents the negative side of

Question Number : 190 Question Id : 8650044159 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Which description of Gandhi does not figure in the passage?

Options :
An advocate of non-violence

An embodiment of vouthful energy
A tradition

The father of the Nation

Question Id : 8650044160 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (191 to 195)



Read the passage below and choose the correct answer

Communication 1s essentially a social affair. Man has evolved a host of different
systems of communication. which render his social life possible—social life not in the
sense of living in packs for hunting or for making war. but in a sense unknown to
animals. Most promment among all these systems of commumication 1s of course.
human speech and lanpnage. Human language 15 not to be equated with the sign
system of animals: he can with his remarkable faculties of speech give utterance to
almost any thought Speech and writing are by no means our only svystem of
communication. Social intercourse 15 greatly strengthened by habits of gesture — lirtle
movements of the hand and face. Also. we have economic systems for trafficking not
in 1deas but in material goods and services: the tokens of communication are coins.
bonds. letters of credit and so on. But life 1n the modem world 15 coming to depend
more and more upon techmical’ means of communication telephone and telegraph.
radio and printing Without such technical aids the modem city —state could not exist

one week. for it 1s only by means of them that trade and business can proceed.
Sub questions

Question Number : 191 Question Id : 8650044161 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

What renders social lite possible for man?

Options :
different svstems of commumcation

living in packs

making war

L

living away from animals

Question Number : 192 Question Id : 8650044162 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

The author believes that speech and writing are
Options :
our only means of communication

not our only means of communication

L2

to be equated with animal mode of communication

tokens of conumunication



Question Number : 193 Question Id : 8650044163 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Which is not a token of commmunication?

Options :
1 bonds

letters of credit
. coins
J.

; telephones

Question Number : 194 Question Id : 8650044164 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Social intercourse is angmented by

Options :
| Wars

gesfures

hunting

L

51g11S

Question Number : 195 Question Id : 8650044165 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

The modern world banks upon kind of communication.

Options :

, physical
religious

3 technical

cCOnoImmc

=

Question Id : 8650044166 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (196 to 200)



Read the followimng passage and answer question

Now. 1f there are groups of people who have a claum to other people’s labour
and self-denmial. and 1f there are other people s labour and self-demal, and if there are
other people whose labour and self denial liable to be claimed by the first groups.
then there certainly are “classes _ and classes of the oldest and most vicious type. For
a man who can command another man s labour and self-denial for the support of his
own existence 15 a prnvileged person of the highest species concervable on earth.
Princes and pampers meet on this plane. and no other men are on it. On the other
hand. a man whose labour and self-denial may be diverted from his mamtenance to
that of some other man 1s not a freeman. and approaches more or less toward the
position of a slave. Therefore we shall find that. m all the notions which we are to
discuss. this elementary contradiction. that there are classes and that there are not
classes, will produce repeated confusion and absurdity. We shall find that. 1n our
efforts to eliminate the old vices of class government. we are impeded and defeated
by new products of the worst possible distinction — the night to claim and the duty to
give one man 5 effort for another man s satisfaction. We shall find that effort to

realize equality necessitates a sacrifice of liberty.

It 15 very popular to pose as a friend of humamty”. or a “friend of the
working classes” Anvthing which has a chantable sound generally passes withourt
wvestigation. because it 15 disagreeable to assail it. Whatever may be one s private
sentiments. the fear of appeaning cold and hard-hearted causes these conventional

theories of social duty and these assumptions of social fact to pass unchallenged.

Sub questions

Question Number : 196 Question Id : 8650044167 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Which word in the opening line mdicates that the passage is taken from the nuddle of

a text?

Options :

L first
there
oW

other

s

Question Number : 197 Question Id : 8650044168 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



Who are more like slaves?
Options :

’ all princes

pampers who don’t work for others

those whose labour maimtaimns others

those who are not aware of the class theory

Question Number : 198 Question Id : 8650044169 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

“Pass without investigation’ means

Options :

pass unchallenged

pass as unconventional

=

pass as uncharntable

| H]

, passas hard-hearted

Question Number : 199 Question Id : 8650044170 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

‘assail’ means

Options :
1 commend

attack

-

hail

harass
4

Question Number : 200 Question Id : 8650044171 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

What 15 the main effect of the fear of appearing cold and hard-hearted?

Options :
questiomng social duty
L = -

mvestigating social assumptions

1

challenging conventional theories



, Tot challenging conventional theories
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